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K General Instructions to Candidates :

\

® There is a 'Cool off time' of 15 minutes in addition to the writing time of
2% hrs.

® You are neither allowed to write your answers nor to discuss anything
with others during the 'cool off time'.

® Use the 'cool off time' to get familiar with questions and to plan your
answers.

® Read the questions carefully before answering.

® All questions are compulsory and only internal choice is allowed.

® When you select a question, all the sub-questions must be answered from
the same question itself.

® (Calculations, figures and graphs should be shown in the answer sheet itself.

® Malayalam version of the questions is also provided.

® Give equations wherever necessary.

® [Electronic devices except nonprogrammable calculators are not allowed
in the Examination Hall.
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1.

a)

b)

c)

b)

If A and B are two sets such

that Al B, then
AUB = ...

i) A i) f

iii) B iv) U

Consider the sets

A ={x : x1is a natural number
1<x£6}

B = {x: x is an integer
-2 <x<4}

Write A and B in Roster form
and find A — B.

If X and Y are two sets such
that n(X)=17, n(Y)=23
and n(XUY)=38, then find
n(XﬂY) .

A function f is defined by
f(x)=2x- 5, then the value

of f(- 3) 1S v,

i) —-11

i) -5

i) 11

iv) 1

Consider the relation
R={(x, x2) :x1s a prime

number less than 10}, find the
domain and range of R.

Draw the graph of the
function f:R® R defined by

f(x) =x2.
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(1)

(3)

(2)

(1)

(2)

(2)

a) A, B oem) wemesgoem,
Al Baowosd AUB = ...
i) A i) f
iii) B iv) U

b) A = {x: x &0} agER® avoely,
1<x£6}
B = {x: x &0y ayden avoely
-2 < x <4}
A, B agomil mememes algleso
AN ag)LI®)b.
A — B ®:06myss.

c) X, Y agomicu oensy mememsgoen.
n(X)=17, n(Y)=23,
n(XUY)=38
n(XNY) eoomys.

@O WO

a) 80) atoUaym mIdQ2llenyMme
f(x)=2x- 5 @mosoe, ag)momd
f(-3) wpes alle ... :

) —11
i) -5
i) 11
iv) 1
b) R={(x, x2) :x agm® 10 @

®OOLWIRS B0 BOEILY (o6}

Q)M eUTWo al@leNlde)ds.

R o aemweiae omallo
Q) FIDBs.
c) f:R® R, f(x)=x2 ag)om

anEBaHeM (0al QUAWHEH:.
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a) Value of Sin 3Ip 1S cevvereenne

i) 1

N
1)2

-1 1
1i1) E v) E
b) Find the value of Sin 15° .

¢) Prove that

Sinx + Sin3x
Cosx+ Cos3x

=Tan2x

OR

a) Principal solution  of

3

SU’L.’XJ =218 e,
2

iii) — iv)

b) In any triangle ABC, prove

a _ b _ ¢
SinA SinB SinC’

that

c) If Cosx = %, x lies in third

quadrant. Find the values of
Sinx and Tanx.

Consider the statement.

P(n):1+3+3% +....+3"" _37-1
2

a) Show that P (1) is true.

b) Verify that P (n) will be true
for all natural numbers.
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(1)

(2)

(2)

(1)

(2)

(2)

(1)

(3)

1
iv) E
b) Sin 15° Wes allel H:06myds.

Sinx + Sin3x

- — =Tan2x ’
c) Cosx+ Cos3x agm

@S| H6)16.

@6L) 851

a) V3

Sinx = X2 oM MRS
2

Tl (e/ldmilej@ eavoeau
06N>

. P ... P
1) 5 11) 4
111) % 1v) %
b) @lemoemo ABC @
a b c

SinA _ SinB _ Sin C O™
@S| H6)16.

c) Cosx= = X @JMoo

21mdIno0EmleIoem.  Sinx ,

Tanx ogmla@ies aflel

06>

P(n):1+3+3%+... 43" =2~

g0 (IAV®IQUM  al@lwen]ee)d:.

a) P(1) oo’ ag)om’
@S H6)16.

b) agglo agen@ oLy DHO0
P(n) WElWOGEMO  ag)(m’
al@1GUOOWIB6)ds.
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b)

b)

a)

b)

KR-158

Conjugate of the complex
number 2 — 3i is ............

Represent the
number Z:1+i\/§ in Polar

form.

complex

Solve 2x% +x +1=0.

Solve 4x+3£5x+6, x1 R.
Show the graph of the
solution on a number line.
Solve the system of linear
inequalities graphically.
3x+4y£60

x+3y£30

x30,y30

How many two digit numbers
can be formed by using the
digits 1, 2, 3, 4 if no digit is
repeated?
i) 12
1i1) 16

i) 8
iv) 4

Find r, if °P, =°P_,.

Find the number of
arrangements that can be
made from the letters of the
word 'THURSDAY'. How
many of these starts with 7T
and ends with Y?

OR
If "Cj; ="Cyy, thenn= ..
i) 11
iii) 1 iv) 21
How many chords can be

drawn through 30 points on
a circle?

(1)

(2)
(2)

(2)

(3)

(1)
(2)

(3)

(1)

(2)

b)

c)

a)

b)

b)

c)

a)

b)

BH00g M Moy 2 — 3 Wyes
BBOMERIENGT 86Ny allSloe) .
Z=1+i3 agm eedoqjesm

Mo6UyO Galogod

QORI IS
2x%+x +1=0 Q)M IAOUOB:Y0
mIdGOMEMo 6).1QYIds.

4x+3 £5x+6, x1 R.
MIdGEOMEMo 6).1QYIds.
mIdEoEeM Mmjelo MoEYOGOEUQIGD
BOEUOQISIOBH:.
23Q16s 82d@BlclenM coallw
@MA® (N0af 9aleWOowla)
mIdGEOMEMo 6).1QYIds.
3x+4y£60

x+3y£30

x30,530
1, 2, 3, 4 ag)ail @oee6BReIa 160
Ulof @R BRAAMDTHH6@®

af) @ QNS HH V06U Y &> (D
ONB0H6)007?

1) 12 1) 8

111) 16 iv) 4

°P, = 6Pr_1 @YWIM r-6@ allel
B06M .

"THURSDAY' agyom alossiee
BOHHUOTBOS af)(@ Bl@QI@
(D BBl 860 ?

@@ T-ol@ oyses! Y-l
@0 UMM B M ag)l®
QOB BHRIENSIH)0 ?

@6L) 851D

%

"Cy, ="Cyy GOWOR N = ........
1) 11
11) 1

80} UyEDOTIc 30 enflazieengiens

wUe®  ewolaflal  ag)®
6MIEM B (LIOBEI0?
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c)

b)

b)

In an examination paper
consists of 12 questions
divided into two parts A and
B, containing 5 and 7
questions respectively. A
student 1is required to
attempt 8 questions in all
selecting 3 from part A and 5
from part B. In how many
ways can the student select
the questions?

Number of terms in the

14
expansion of &Ke- i‘?
P & Bxg
1S eeeerne
i) 14 i) 12
111) 13 iv) 15
Consider the expansion of
® 18"
x%- —> . Find the
& 3x g
1) general term
i1) middle term
If L X 1 tri
3 ¥ oo arein geometric
progression, then x = ........
N 1
) 13 Wy
1i1) I v) 18

Insert five numbers between
8 and 26 such that the
resulting sequence is an
Arithemetic progression.

Find the sum to n terms of
the sequence 4, 44, 444, .......

KR-158

(3)

(1)

(1)
(2)

(1)

(2)

c)

a)

b)

b)

al10ds A, B agyemil alleow emslleln
@fl 80} 82103)Bala]G1@ 12 8210a)
emalens, alods A @@ 5 6al0ay
6380 alods B @@ 7 eatosyems

8lo. 80) &Gl 8 62103y BRHE)
OOMOORLI®EMo. aldds A @
ooy’ 3 62108yemBRdEe0 alods B
Q@ mlan 5 @2l10ByEBREN 0.
ag)® @@ 0D 6210ByEBR
OHMOOEMMS)HNI0?

.14

&2 10

2
& b
OTOL! IBEIBROS AGAINO wrvererenec
1) 14 1) 12
111) 13 iv) 15

oM@ llaielleoem

14
&9 10
X - —= o0 allanele-oem
g 3x 5 B 3 o
@I B6))b.

llagyefle-oemesleos
1) ©alo®myalBo B:06Mids

11) 2WyalBo &06MYbs

1 1
_’ x’ —_—
3 27
wneml® ewyemialea msdoj@ow
@M a1BEIBROOEME:IE X-6)08 el
06N>

i) 1 ..
1 12 11)

agamlal &y o

_ o=

1ii) I iv) 18

8, 26 o)l qvo6yedeslsI@d
@ER  MVoBUYEBD UMD HE
AUlwoBld 80y MEHO GUYEMI
|01 0618

N alGEBRINS M Hemslalls]
o, 4, 44, 444, ...........
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10.

11.

a) Which one of the following
lines passes through the
origin?

1) 2x+3y+1=0
i) x+y-1=0
i) 2x- y =0
i) x- y+3=0

b) Find the distance between
the parallel lines

3x-4y+7=0 and
3x-4y+ 5=0.

¢) Find the equation of a line
perpendicular to the line
2x- 2y+ 3=0 and passing
through the point
(1,2)
OR

a) Slope of the line
3x- 4y+10=0 1is .........

b) Find the equation of a line
passing through (1, 2) and
(33_1)

¢) Find the equation of the line
through the intersection of

the lines x+2y- 3=0and
4x- y+7=0 and which is
parallel to 5x+ 4y- 20=0.

Consider the ellipse

2 2
x_+y_:1.

81 49

a) Find the eccentricity and
foci.

b) Find the length of latus
rectum, length of major axis
and minor axis.
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(1)

(2)

(2)

(1)

(2)

(2)

(2)

(2)

10.

11.
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a) el enflasialleyes &smmy

BalOd)M GO6U a@®?

1) 2x+3y+1=0

i) x+y-1=0

1) 2x- y =0

iv) x- y+3=0 (1)
b) 3x-4y+7=0, 3x-4y+5=0

ag)(ml MROMMO  BOEUBWDHSISQS

eNss Bioo @ens)allSlesid.. (2)
c) 2x- 2y+3=0 ogm GOELUQHE

elosni@o@®yo (1, 2) agyom enflasy

Qllees #samy GalddiMmIMOW

BOEUWIOS A0 0

6N3)0 151666 (2)

@6L) 851D

a) 3x- 4y+10=0 ag)om aqvaalos)

OO0 MIBRIOG] B06M)b:. (1)
b) (1, 2), (3, =1) ag enflazyees

BIOIS &SN} BalOBM COEIQOS

VAQUOBY0 B6NB0IS|e6) . (2)
c) x+2y- 3=0, 4x- y+7=0

af)M]  GOEUMSBIOS  Mowd

I3l B5S] BHSMMYBALIOBYM

®jo dx+4y- 20=0 g

BO6UW HE) AN OUIDOQ
BOEUWYOS AU 0
6N3)a 1S166)d. (2)
2 2

X Yy o o

—+>—=1 o eflalio

81 49 [

@AM 6.

a) ag)®mRolnlgl, 8andHHaVIBRD
EDQU BH06Ms. (2)
b) engmieOssgo, coRd @DBMIMS,
©60Md @YEMIM ag)omlaies
8o £06Mien.. (2)



12. a)

b)

13. a)

b)

b)

14. a)

b)

Any point on Y-axis is of the
form

1) (x,0,0)
11) (0,y,0)
iii) (0, 0, 2)
iv) (0, 0, 0)

Show that the points
P(_2’ 3> 5)’ Q (13 2’ 3) and
R (7, 0, —1) are collinear.

Value of
Lim Sinax
— a,b1 0

x®0 Sinbx
1) a i) b
L. a b
1ii) b iv)
Find the derivative of
y = Tanx by using the first
principle.

OR

Lim Tanx .
Value of x®0 5 1S eeeee
i) 0 i) -1
oo 1 ) 1
1ii) 9 iv)
Find the derivative of
Cosec x
2
X

Write the negation of the
statement, "Every natural

number is greater than zero".

"\/g is irrational". Prove by

the method of contradiction.

KR-158

(1)

(2)

(1)

(3)

(1)

(3)

(1)

(3)

12. a)

b)

13. a)

b)

b)

14. a)

b)

Y-ansuomieons ey snllaaled
VOMOIMY DIAIO weveereerenee @06M.

1) (x,0,0)

1) (0,y,0)

111) (0, 0, 2)

iv) (0, 0, 0)

P(_2> 3> 5)7 Q (1’ 27 3)7

R (7, 0, -1) agomias em
coal@leea  enflmyengoeemam’
@S H6)16.

Lim Sinax

x®0 Sinbx’ a,0% 0 o
afler ...

1) a 1) b

. Qa .. b

1ii) b iv)

y=Tanx e® ewodleuglal
aomig (NdMilafld ©ale@ouilef
BOENBOTO.

@6L) 851

Lim Tanx
x® 0 X
1) 0

1
iii) 3 iv) 1

Cosec x X
2 o ewoleaiglal
X

6N3)0 151666

"Every natural number is
greater than zero" ogmm
(I V®OQUM QYOS OMBUWaU M

Q) PY®IP>.
"J5 s ag)am
(I V®OQUM GO (S B> aUd
Alsled e®&lQ]ees:.

irrational"
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16.

15. Consider the frequency 15. ®@oey @mMIdlenm @A
distribution table. ISlEH@RS:
Class 30—40 | 40-50 | 50-60 | 60-70 | 70-80| 80-90 | 90-100
Frequency 3 7 12 15 8 3 2
a) Find the mean and standard a) mowyo, gomewday allafleauad
deviation. (6)
. o b) e®owadlauy 60ad BOIGlEWanMD
b) Find the coefficient of (coefficient of variation) enau
variation. 3) B>613)0. 11065,
3 3
a) If P(A)= 5 P(A9= ... 16. a) P(A)= 5 @Ood P(AQ)
9 9 806N,
) 3 03 L2 2
- 1) 3 11) 5
i) 1 iv) — (1) 5
3 iii) 1 iv) -
3
b) A die is tossed.
b) &n) eew 6sOQY ealgMM).
i) Write the sample space. (1) ) o0 ® Bl
1) moml@® niealmy ag)i®iss
11) Fln('l the probability of i) 2 smesod alem )
getting a number greater oy S5 m@lmies
than 2. (1) elatosrenleNdl ©:06mibs.
) P(4)=5. P(B)= =L p(p)=1
C 3’ 5’ C) P(A)—g, P(B)—g’
P(AmB)zi P(ANB)=—
15 ( )_B @YW
find :
. iy P(AUB)
1) P(AUB)
1i) P(Aqﬂ B(I)
1i) P(Aqﬂ B(I)
1i1) P(A(Tﬂ B)
1i1) P(Aqﬂ B) (3)
EDQU B06MYbs.

KR-158
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